=
<

= =
g =
s 8
& Q
= 1
o
1072
910\&) |||||||||||||||||||||||| o — f
= =
o] o]
g | ||||||||||||||||||||||||||||||||||||||||||||||||| g | ||||||||||||||||||||||||||||||||||||||||
(LR ||||||||||||||||||||||||||||||||||||||||
0.95 : . : : i 0.95
=3 -2 -1 0 1 2 3 =3 -2 -1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__CMSSW_mKtt50i7_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i8_RECO
—~— DQM_V0001_R000000001__Global__CMSSW_mkit50i9_RECO
= -
= I S A S S S IS
) o
2 )
| S SRS UTUT SRR SO =
A | R A oh
o}
(e
o 5
o

o i o
& ||||||||||||||||||||||||||||||||||||||||||||||I||}IHI &

“|||||||||||||||||||||||||||||||||||||||||||||I|| | ;|||||||||||||||||||||||| ||;
0923 T0 T2 3 = >3
TP n (PCA to beamline) TP n (PCA to beamline)
= F
D_)—
3
o

10'1:. t: :

el
(B

23 2 -1 0 T2 3
TP n (PCA to beamline)




	Contents
	Page 1


